yes..its exactly like combining like terms... 
for example, 5x + 6x = 11x 

same way, 5 
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+ 6 = 11 [image: image2.jpg]




As you know that 3x + 4y cannot be added further as they are not like terms, the same is true for radicals too...for example, 3[image: image3.jpg]
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 cannot be added further....

Two radicals are alike if their radicands are identical.
You didn't quite get as in depth as we needed. What is the difference between identical radicals and like radicals?

Do the coefficients have to be the same? The radicands? Anything else

Hi Mr. Daniel

Identical radicals are expression that share same radicals
Example: 3√2 + 6√2= 9√2

Like radical are expression that don’t share same radicals

Example: 2√32 + √18

2√16.2 + √9.2

2√16 . √2 + √9 . √2

2.4√2 + 3√2

6√2 + 3√2= 9√2

